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QUESTION 1

What happens with the User Stories during the Sprint Planning meeting?
A. The items move from the Product Backlog to the Sprint Backlog.

B. The items move from the Release Backlog to the Sprint Backlog.

C. The items move from the Sprint Backlog to the Product Backlog.

Correct Answer: A

QUESTION 2

During a Sprint Planning session, the team argues about the work estimates for a particular story.
The Product Owner estimates five days.

The Lead Architect estimates two days.

The Scrum Master estimates eight days.

The team member working on it estimates seven days.
What value (in days) should be used for planning?
A2

B.5

C.7

D.8

Correct Answer: C

QUESTION 3

A Scrum team failed to meet the Sprint objectives. One of the key members of the team fell ill and was away for two
days right at the beginning of the four week Sprint.

What is the most likely reason that the team did not meet the Sprint objectives?
A. The Product Owner is unable to prioritize.

B. The team is lacking skills.

C. The team did not plan the Sprint effectively.

D. The team is over-worked.
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Correct Answer: C

QUESTION 4

"Programmers know exactly what others expect from them and can work more productively.” Of which Agile practice is
this a benefit?

A. Bus Factor

B. Continuous Integration

C. Pair Programming

D. Test-Driven Development

Correct Answer: D

QUESTION 5

Under what circumstances would a team use Affinity Estimation Technique instead of Planning Poker?
A. If more details are needed during Sprint Planning

B. If there is a large number of stories to estimate

C. If there is a small number of stories to estimate

Correct Answer: B

QUESTION 6

What is a Scrum-of-Scrums?

A. A meeting for management to get insight into the working of teams.
B. A meeting for Scrum Masters of international Scrum teams.

C. A meeting to coordinate the work of multiple Scrum teams.

D. A meeting to show the customer an update of the product.

Correct Answer: C

QUESTION 7

A user story was estimated at five ideal hours. On a normal eight hour working day, the team gets about four hours of
actual work time.

What would be the elapsed time required to complete the Story?
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A. One day and two hours
B. Two days
C. Five hours

Correct Answer: A

QUESTION 8

A team decided to install a large traffic light in the team hall to indicate whether the latest build was healthy
(green), failing a few tests (orange) or failing high priority tests (red).

What term can be used to describe the traffic light?

A. Information radiator

B. Osmotic communication

C. Triangulation

Correct Answer: A

QUESTION 9

Who should update the work estimates during the Sprint?
A. The Development Team

B. The Project Manager

C. The Product Owner

Correct Answer: A

QUESTION 10

In a Scrum project, a team member notices that not all Scrum processes are followed. Who is responsible for ensuring
that the Scrum Team follows the Scrum processes?

A. The Product Owner
B. The Scrum Master
C. The Development team

Correct Answer: B
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QUESTION 11

A Definition of Done contains a number of characteristics of the potentially releasable Increment. Which of the following
characteristics belong in the Definition of Done?

A. Functional Requirement
B. Length of the Time-Box
C. Organizational Processes
D. Velocity of the Team

Correct Answer: C

QUESTION 12

What is the best way to split up teams on a large project which is implemented using Scrum?
A. Group by domain expertise.

B. Group by features being developed,

C. Group by specialty of the team members.

Correct Answer: B

QUESTION 13

A Scrum Team works on a project in 2-week Sprints. During the Sprint Planning meeting of the third Sprint,
the Product Owner says:

"I will be going on holiday in 2 weeks. Let\\'s change the duration of this Sprint to 4 weeks, so that | will be
back when it ends."”

Should the duration of the sprint be increased?

A. Yes, because the Product Owner must be available at the end of a Sprint.

B. Yes, because Sprint duration can be anything between 2 and 4 weeks.

C. No, because the Sprint duration is not based on single events.

D. No, because only Development Team members may change Sprint duration.

Correct Answer: B

QUESTION 14
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Near the end of a Sprint, the team realizes that they will not be able to complete the stories they had committed to.
What is the best course of action for the team?

A. Add resources and team members to meet the goals of the current Sprint.

B. Ask the Product Owner to decide which stories can be delayed until the next Sprint.

C. Decide on a new definition of Wdone\\' for the Sprint Backlog Items.

Correct Answer: B

QUESTION 15

Your team uses a Kanban board to visualize the progress. Why is visualizing the progress helpful?
A. It helps the Team to work together better.

B. Visualizing helps the Scrum Master delegate.

C. The board shows co-workers how busy the Team is.

Correct Answer: B
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